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3% W, = 600g= 0.6kg (0.54508kg)
235 do] B, =218.5mm= 0.2185m
52235 A% B, =12mm= 0.012m
<
E29% 9K By= _‘ad = 8me= 8mm = 0.008m
- < ad 8
—!E]—/\ = I35 = = =
22A%F 4% tanp Txd "~ T2.65n 0.2013026948
- 3=11.38168265
table trans formation
oo B,= 98% = 0.98 (cw ccw)
75
S-Time A-Time C-Time D-Time Cycle
(BA A1) (7FH&5AI1 ) (FEAI7) (FHEA17H (RH)
t, = 0.25s t,= 0.1s t, = 0.55s t; = 0.1s t.= 1s
ol&A gl S=149.5mm= 0.1495m
AZY A4 BHE J=22x10°
B2EF-HE m, =200g = 0.2kg
L2AF my, = 0.72kg/m < 0.2185m = 0.15732kg = 0.16kg
9lg F=0N
SOLVE)
B35 FA By =my= 0.16kg
W, B}
RE S = Jot Jy= Jot ~ By B4 -
8 4
2
_ .0 X 0.
=2.2x10 °+ %0.16 < 0.008% + w
m

= 4.452683363 < 10 = 4.45<10" " kg o m?
RES AE g =0.027 %10 *kgm?

J 45x107 6
A g G, = —= L%: 1.648148148 = 1.65 (less 20)
Ju o 0.027 X 10

HAEHE 5= l><ATz'me>< Viax + CTime X VmaX—F%XDTimeX Vi ax

2
1 1
= X 00X Vo F0.55X Vi + X 0.1 Vo
= 0.65V,, .y
5 8= 065V,
Viax= 0.65710.1495= 0.23m/s




Vimax ~ 0.23

RE3AEE = = = 28.
13] N, B, = 0.008 28.75rps
N, = 60N, = 60x28.75= 1725rpm
o|FED T, = Dr (ug W, + F)
() ! 278, HG Wy
0.008
= ——— (0. xX 9. x 0.
5% 0.03 (0.003 < 9.807 < 0.6+0)
=2.293468203 < 10 ° = 2.29 <10 ° Nm
2 Nsec(J, + Jy,)
= — :
HEA T, ATime I
-6 —4
_ 27rx28.75x(4.45x0110 +0.027 X 10 )+2_29X10,5
= 0.0129389928 = 0.01Nm
21 Nsec(J, + Jy,)
rd s — _
e DTime Ty
-6 -4
_ 27X 28.75 < (4.45 xollo +0.027x107%) g 1075
= 0.0128929728 = 0.01Nm
HUNEASR] 7,=0.01< 0.48N « m
) ) Tit,+ Tit,+ Tity
fraEadgel 7, = "
_ \/ 0.01% 0.1+ (2.29 <107 7)* x 0.55+ 0.01% < 0.1
1

= 4.472168202 <10 * = 4.47x 10" > Nm
T, =4.47%x10"* Nm < 0.16 Nm

¥ o HE AR 2 <l

35 W, = 6160g= 6.16kg = 6.20kg

A5 4ol B, =175mm= 0.175m
F A4 Bp=12mm= 0.012m

< ad _ 8mm

B35 X By = ‘ - - 8mm= 0.008m
_ <
BA9% &8 tanf= 7T_><Octld = 128&% = 0.2013026948
' . B=11.38168265
table trans formation
S B,= 98% = 0.98 (cw ccw)
T
S-Time A-Time C-Time D-Time Cycle
(BA A1) (7FH&5AI1 ) (HEAI7) (FHEA17H (RH)
t, = 0.25s t,= 0.1s t, = 0.55s t;= 0.1s t.=1s

A8 S=11Tmm= 0.117Tm
AZY A4 BHE J=22x10°
AN
= P

ER{F-YUE m, =200g=0.2kg




BT my, =0.72kg/m < 0.175m = 0.126kg

o1¥ F= 0N
SOLVE)
B35 FA By =my= 0.126kg
1 W, B}
B2E J=Jo+Jp= JC+7BI/VB%+ APp
8 471'2
2
—2.2x 10*6+éx 0.126><0.0082+6'2>;ﬂ
™

1.325906142 %10 ° = 1.33 %10 ° kg o m?
REe A" J,=0.027x10" ‘kgm?

J; 33x107°
BANE G = = Lloﬂ: 4.925925926 = 4.93 (less 20)
Sy 0.027x10

- 1 1
AYgEx S= §><ATime>< Viax + CTime X Vo + =X DTime X V,

max 2 max

= %XO.IX Vinax T0.55 X VmaX—F%XO.lX Vi

ax

= 0.65 V.«
S 8=0.65V,
Viax= 0.65"1x0.117= 0.18m/s
|4 0.18
TE S X%»/’:E _ max _ _ )
1544 swee= g 0008 220TPS
N, = 60N, = 60x22.5= 1350rpm
OlEET T, = Dr (ugW, + F)
<} f 27_(_37] Hg A
~0.008
= 52098 (0.0039.807%6.240)
=2.368225553 < 10 1= 2.37x< 10" * Nm
2w Nsec(J, + J,,)
NERD T, = T
-5 —4
_ 27rx22.5><(1.33xol(1) +0.027 %10 )+2.37X10,4
= 0.02285646711 = 0.02 Nm
2 Nsec(J, + Jy,)
rd = — ! —
g 1 DTime Tf
-5 —4
_ 27rx28.75x(1.33x0110 +0.027x10" ") 5.37% 10~

= 0.02238246711 = 0.02Nm
HYEAER 7,=0.02< 0.48N « m

Tit,+ Tit,+ Tity
t

_ \/ 0.022 0.1+ (2.37x<10"4)? < 0.55+0.022 < 0.1
1
= 8.945998712 <10 * = 8.95x 10" > Nm

T, =8.95%x10"* Nm < 0.16 Nm

c

fraEasgel 7, = \/




om o= Low Innertia E}93¢ 50WH| &

o] &% 100VAIE, FlzEel E3% 10000, =
3000rpm© & Panasonic Motor & 7H¢ &9 o] oFgh 318 M atgitt.



